EARAROBREBRT —5 XN—ZXBISH—F

20224638318 (A) 240EHH3E

U C3H U5R4mE

\(9&1&1 = ‘I%EH?’JFQ] | & 100 =

[AE%] 1 7% :500,000 F . 27&:200,000 )  33%&:125000M  43%&:75,000H  53&:50,000 9

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
72+ T =) 4 4 JSIJJ%E— 1:34.3 4-4-3-3 | 4.2 — 2 405 ‘g%g% (E8)
. (=) _ L7
RiAWTz—II B:VFFR Q) ARAIWT7—L
~ )5 9 4 5 | {EQAKHE 1:34.4 2-2-2-2 |4.6| — 1 487 | AN (EH)
?.Jy - EZ’J’ J-|‘\ A51.0 (3/4) (3 |t
RIIRTVFLY B:DV9—RF— KBRS
A TN 4 5 5%41120%&— 1:(35).2 4-5-4-4 | 42.1| — 3 445 ??ﬂg% (BB
. 5 IR
R:IAYVTSyva BNUDY RELT ¢2 wH B
~ T ft 4 | SEEX 1:35.6 1-1-1-1 | 42.9| - 5 447 | IIEtE (EEH)
415|565 /7\”/12/773// B X X 54.0 2 1/2) -3) Zgbt‘él# (#)
RiJTTURS BiRUA—RIUXITLY EScTe]
Q — s 5 | HFEEK 1:35.7 8-8-6-5 | 41.6| — 7 | 40 |=EEZ @H
5078 N7 hU—FI ) 54.0 (i72) 4o | @ Ir—ZhEVIY
R:T—ILRI—-X B:bhyFIs—F2R ERRIS
6 S | YT aHL 7 %%EE (1:36.3) 9-9-9-10 |41.6| — | 9 | 454 féﬁ; jz(mﬁ)
- 3172 =
REVY Y IR E BFAFTIAN— ) @) Haa—KL—vavEETr
S5y — i 5 | NEEF 1:36.6 3-3-5-5 | 43.4| — 6 | 409 |TEHEER (EH)
71810/ 72T L 5.0 @ ) |8 ALPAZ R
R4 I RD—LEY B:NSRYR ESHIT—L
I — H o6 | BEFT 1:36.6 10-10-9-9 | 41.5| - 8 | 516 | /A% (7
8189 /7\1_)1\?‘9_ JIJ' 56.0 N\F) 47) | TS
RN—EVIv— B:JURIYRF+0OI HEI7—L
9l7| 7| VavFry #1 ;Fgﬂtﬂ)ﬁi 1:(37).1 6-6-6-8 | 43.3| — | 10 | 459 gilf&g(mm)
. 3 -
R:ZF—UvoO—R B:IFRINAY— =1 RS
S INTIITS 8 5 | MAFEH 1:37.5 6-7-6-7 | 43.7| — 4 466 | EBNSTE (BB
100N 4 f’_il\T{:I? o 54.0 @172 0) |8 _T—LFRZEE
R:TFAIWNIPFH— B:F Y VT e X e
@ 11— —BERIEI
13—7F— 5,1,10,(3,6),(4,7),8,2,9
20— — 5,1,10,3,6,7,4,8,2,9
BEIES /S 5,1,3,6,10, (4,7,8),(2,9)
43—7%+— |5,1,3,6,(8,10),4,7,9,2
o ILRE
BB 3 610/ JA R 1-3 1909 & 1-3 350 3ER 1-3-6 5304
B B 3 130 3-6 3204 5 & 1-3 3404 3Es 3-1-6 3,220
1 1009 1-6 1909 oS- 1 3-1 1,100
6 160/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




